H:(1000)LEISTH 2 (1200) 2B F | 2 (1240) T 2 2 X HIB: (1245) TH & 22 AIKIEH: (110)0121 b [=2HAA L] (S H
p) g _ _
ot = Of &b o Gl AF oM s A& &t E Jl =
1245
T &tz 4,897,816 4,154,953 742,863
100
2 A0 & 438,911 394,623 44,288
110
o121 16,697 13,136 3,561
101
o121 16,697 13,136 3,561
5,497 11,936 3,561/ 10 2L AIAS IR
O 2BRMA BXYL2 o2y
31,513.27 X 12l X 1132
(25) 9,310,0008 - (JI1%) 5,749,0008 = 3,561
120
2 A= 2| 422,214 381,487 40,727
201
B2 | 402,649 361,922 40,727
402,649 361,922 40,727|01 2Br2 Y|
O [geragHI] = 4,500
o FMHTA 22E PO 200,000 X 55 X 23
(2%) 8,000,0002 - (%) 6,000,0008 = 2,000
o FIIHFEY 24| (SH) 2,500,000 X 14|
A5) 5,641,0008 - (J1%) 3,141,0008 = 2,500
O [B222 2 MAl - 36,227
o FI| ANEE(2F, )
(™) 115,000,0008 - (JIH) 90,000,0008 = 25,000
o MAE NEE(2FH, 2B
(2%) 11,000,0008 - (JIH) 8,000,000% = 3,000




Z:(1000) L ere HH 2:(1200) L Bt H g(1240) e MIgt: (1245) TH &k 2tel NIAIEE: (120) 2 &t X 2 H [EELALA] (21 HLY)
p) 3 . _
) = e Y I A &b = pJ ES
o ZHAb Sl 300,000 X 294 X 5043
(8%) 5,400,000& - (21&) 2,400,000& = 3,000
o NSIH(SEXS 710H)
(B8) 10,000,000& - (J1&) 7,500,000& = 2,500
o HSHEEHE(SSHS 71H)
(88) 25,000,000& - (21&) 22,273,000& = 2,727
200
N 4,458,905 3,760,330 698,575
220
AHHI A 4,458,905 3,760,330 698,575
401
N =] 4,239,326 3,573,930 665,396
4,203,326 3,573,930 629,396 |01 Al&HI
O ggad=A O|MFR Y 300,820,000 X 14! = 300,820
O SRAYUFLAS2NHY (RHASS DL
64,000 X 4,759 = 304,576
TUHAY =82 & B2t WS A 4,000,000 X 14! = 4,000
O THOHCHH A HAS B IEEH LSS
5,000,000 X 14! = 5,000
O JIFMEN TG EMBAE LIS A 15,000,000 X 1A = 15,000
34,000 0 34,000 |02 Z2lbl
O ZEAMN SESA el 2,220,000,000 X 1.5315% = 34,000
2,000 0 2,000 |03 Al& =204
O ZEA SEZA AE20H = 2,000
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:(1000) 2 EHAFH| 2:(1200) L Bt H g(1240) e NI (1245) T &2k 2) MIAIEE: (220) RERIAFS [EEIALA] (&2 HS
p) 3 _ _
ot = Of &b o4 Gl AF oM s A & &t = ) e
405
AHaHE S HI 211,679 178,500 33,179
211,679 178,500 33,179 |01 ML =SS FHSH|
O JIFHENTGEL S = 33,179
o APRAZEDIICHHIR, HAS) 19,179,000 X 14
(2%) 34,179,000& - (JI1&) 15,000,000& = 19,179
o TADHZAIASENH2A A 14,000,000 X 14! = 14,000




Z:(1000) U Bre A b 2 2Rkl 8 (1240)HR & S Mgt (1245) T &k 22 K I8 2 (220) KHH) AL SHE] (25 8e
J| g _ -
ot =2 o B &k £ | =
1245
THat2e 620,608 292,627 327,981
200
AL O & 444,181 116,200 327,981
220
THHIAHS 444,181 116,200 327,981
401
AEHIZLFUBI 390, 331 94,000 296,331
390,331 94,000 296,331/01 Al&H
O d25 FMNEARSA 9,000,000 X 9,000
O HaH ARA FDEMBA 8,000,000 X 8,000
O ZNH A SE3A 51,071,000 X 51,071
O ANZS8 FHA o84 SE2SAM 2,000,000 X 2,000
O AZY ZA 38 =HIUISA 4,000,000 X 4,000
O &Xx¢ A ESUMAEFAMEHISA
15,000,000 X 15,000
O ggsEAgdAL 20,000,000 X 20,000
s RelF¥2 HELX 3,000,000 X 3.000
O A2 FA E& 6l=2)1 & X3 SA
40,000,000 X 40,000
O 4SSEDAFIA 102,260,000 X 14! 102,260
4SS NREETL HESAY 209,425 X 191m 40,000
OlgeiARA Setele AX 2,000,000 X 14! 2,000




:(1000) 2 EHAFH| 2:(1200) L Bt H g(1240) e NI (1245) T &2k 2) MIAIE:: (220) REHIAH [SHS] (291 3Y)
p) 3 _ _
ot = Of &b o4 Gl AF oM s A & &t = ) e
405
AHaHE S HI 53,850 22,200 31,650
53,850 22,200 31,650 |01 ML =SS FHSHI
O gdgs UEARE SAIFY 6,000,000 X 10H = 6,000
O &35 AMR4 oo 7Y 5,000,000 X 1CH = 5,000
O SaH 3o/a HHYI| 2 3,000,000 X 1CH
(28) 6,000,000& - (J1&) 3,000, 000& = 3,000
O EXZH dUSEAD 7L 6,000,000 X 10H = 6,000
O DIg® =AY 6,000,000 X 1CH = 6,000
O DIy AFR4 I = 5,650
o AEHEI 100,000 X 44 = 400
o HOIA 35,000 X 15004 = 5,250




